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	INSTRUCTIONS TO CANDIDATES.
	(a)	Write your Name and Index Number in the spaces provided above.
	(b)	Sign and write the date of examination in the spaces provided above.
	(c)	This paper consists of two sections: A and B.
	(d)	Answer all the questions in section A.
    	(e)	Answer question 16 (compulsory) and any other three questions from section B.
   	(f)	All answers should be written in the spaces provided on the question paper.
	(g)	This paper consists to 8 printed pages.  Candidates should check the question 			paper to ensure that all pages are printed and no questions are missing.
	(h)	Answer all questions in English.

		FOR EXAMINER’S USE ONLY
		Section		Question		Maximum Score	Candidate’s Score
		     A			1 - 15		        40
		    			16		        15
		     B			17		        15
					18		        15
					19		        15
					20		        15
	          			         Total Score	      100






SECTION A (40 marks)
Answer all the questions in this section in spaces provided.
1.	State one difference between PDA and personal computer					(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
2.	State four examples of toggle keys on the computer key board.				(4 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
3.	A company wants to buy a new software.  List three items of documentation that should accompany
	a software.											(3 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
4.	Explain each of the following terms as used in Microsoft Word.				(4 marks)
   (i)	Text alignment.
	_________________________________________________________________________________
	_________________________________________________________________________________
   (ii)	Mail merge
	_________________________________________________________________________________
	_________________________________________________________________________________
5.	Define the following terms as used in email folders.						(3 marks)
    (a)	Trash
	_________________________________________________________________________________
	_________________________________________________________________________________
   (b)	Spam
	_________________________________________________________________________________
	_________________________________________________________________________________
  (c)	Inbox
	_________________________________________________________________________________
	_________________________________________________________________________________
6.(i)	What is a programming language?								(1 mark)
	_________________________________________________________________________________
	_________________________________________________________________________________


   (ii)	State two factors to be considered while choosing a programming language.		(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
7.	Explain the following stages of system development.					(2 marks)
   (a)	Coding
	_________________________________________________________________________________
	_________________________________________________________________________________
   (b)	Requirement specification.
	_________________________________________________________________________________
	_________________________________________________________________________________
8.	List two roles performed by computer engineers.						(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
9.	State two type soft software piracy.								(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
10.(a)	Define the term query as used in a database design.						(1 mark)
	_________________________________________________________________________________
	_________________________________________________________________________________
    (b)	State two advantages of computerized database.						(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
11.	List two forms of computer output.								(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
12.(a)	Distinguish between the following as used operating systems.				(4 marks)
		Graphical user interface					Command line







		Hibernation							Shut down






13.	Distinguish between widow and an orphan as used in word processor.			(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
14.(a)	Define file organization as used in data processing.						(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
   (b)	List four data processing modes.								(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
15.(a)	List two high level programming languages.							(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
   (b)	Name three characteristics of a system.							(3 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	












SECTION B (60 marks)
Answer question 16 (compulsory) and any other three questions in this section.
16.(a)	Study the flowchart below and answer the questions that follow.
	                      [image: ]
					

   (i)	State the name of the control structure shown in the flowchart.				(1 mark)
	_________________________________________________________________________________
	_________________________________________________________________________________
  (ii)	Assuming the user keys in 8 and 14 when prompted to enter the values form and N respectively,
	determine the printed values of A, B,  and y.						(4 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________




   (c)	Write the pseudocode that would be used in place of the flowchart.				(5 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
  (b)	What is the difference between looping and selection?					(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
  (c)	Name the stage of program development cycle when:-					(3 marks)
    (i)	A user guide would be written
	_________________________________________________________________________________
  (ii)	A programmer dry-runs the code.
	_________________________________________________________________________________
  (iii)	System chart would be drawn.									
	_________________________________________________________________________________
(d)(a)(i)Define the term information system.								(1 mark)
	_________________________________________________________________________________
	_________________________________________________________________________________
  (ii)	Differentiate between a close system and an open system in relation to system boundary.	(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
  (iii)	Outline the stage of systems development life cycle in their logical sequence briefly describing what
	takes place at each stage.									(7 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
  (e)(i)	The figure below shows a picture tool bar.
			[image: ]


					   A             B         C

	Name and state the functions of the features marked A, B and C.				
       (i)	A												(1 mark)
	_________________________________________________________________________________
	_________________________________________________________________________________
      (ii)	B												(1 mark)
	_________________________________________________________________________________
	_________________________________________________________________________________
    (iii)	C												(1 mark)
	_________________________________________________________________________________
	_________________________________________________________________________________
   (b)	State the importance of column breaks as used in word processor.				(1 mark)
	_________________________________________________________________________________
	_________________________________________________________________________________
   (c)	Change case is where a user applies different paragraph formatting styles so that the text can have
	some contrast in size.  Write the word Digital SIGNAL.					(2 marks)
     (i)	Title case
	_________________________________________________________________________________
   (ii)	Toggle case
	_________________________________________________________________________________
  (d)	Define the following terms as used in charts.							(2 marks)
    (i)	Legend
	_________________________________________________________________________________
	_________________________________________________________________________________
   (ii)	Data range
	_________________________________________________________________________________
	_________________________________________________________________________________
   (e)	The table below shows how a kiosk owner uses a spread sheet to keep records in a shop.
		     A		          B	        C		     D		              E		  F
	1	Item Name	Number of item  Unit cost    Total buying price	Total selling price	Profit
	2	Blue band	        150	        120							3600
	3	Toss		        135	          50							1350
	4	Cow boy	        120	        120                        					2880
	5	Panga soap	        118	          50							1180
   (I)	Write a function to calculate the total buying price.						(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
  (II)	Write a formula to calculate the profit.							(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
  (III)	The total buying prices of all items was increased by 12% and the value 12% is placed in cell B6.  
	Using cell addresses with absolute referencing, write formula to calculate the Total Selling Price in 
	cell E2.											(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
   (IV)	State the output of the expression = SUMIF (F2:F,”<1 500”) would return.			(1 mark)
	_________________________________________________________________________________
  (f)(a)	Define each of the following Data Communication terms:					(4 marks)
      (i)	Attenuation
	_________________________________________________________________________________
	_________________________________________________________________________________
    (ii)	Simplex
	_________________________________________________________________________________
	_________________________________________________________________________________
  (iii)	Bandwidth
	_________________________________________________________________________________
	_________________________________________________________________________________
  (iv)	Signal modulation.
	_________________________________________________________________________________
	_________________________________________________________________________________
  (v)	Data signal
	_________________________________________________________________________________
	_________________________________________________________________________________
  (b)	Describe the following Network topologies.
    (i)	Star												(31/2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
  (ii)	Bus												(31/2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
  (c)	List three types of computer networks.							(3 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
  (g)(a)	Convert the following hexadecimal number to its decimal equivalence 11116		(3 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
  (b)	Perform the following binary arithmetic.								
     (i)		111112 + 111112									(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________


     (i)		110102 - 10102										(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
  (c)	Convert the following binary number 1110.012 to decimal.					(2 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
  (d)	Using twos complements (2c) subtract 2810 from 1710 in 7 bit form.			(3 marks)
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
  (e)	Using one’s complement (1c) work out the following in 8 bit form.				(3 marks)
		3110 - 1210
	_________________________________________________________________________________
	_________________________________________________________________________________
	_________________________________________________________________________________
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1.(a)	Type the following document as it appears and save it as milk				(35 marks)

											Types of consumption.
	There area two distinct type of milk consumption: a natural source of nutrition for all infant mammals, and a food product for human of all ages derived from other animals.

											Nutrition for infant mammals
	
	In almost all animals, milk is fed to infants through breast-feeding either directly, or by expressing the milk to be stored and consumed later.  Some cultures, historically or currently, continue to use breast milk to feed their children until they are 7 years old.

											Food product for humans
	
	In any cultures of the world especially the western world, human continue to consume milk beyond infancy, and using the milk of other animals (in particular, cows) as food product.  For millennium, cow milk has been processed such as cream, butter, yogurt, kefir, ice cream and especially the more durable and easily transportable product, cheese. Industrial science has brought us to casein, whey protein, lactose, condensed milk, and many other food addictive and industrial products
.
	Humans are an exception in the natural world for consuming milk past infancy.  Some human lose  the ability to fully digest milk after childhood (that is, they become lactose intolerant)
	The sugar lactose is found only in milk, forsythia flowers, and a few tropical scrubs.  The enzyme needed to digest lactose and lactase, reaches its highest levels in the small intestine after birth and then begins a slow decline unless milk is consumed regularly.  On the other hand, those groups that do not continue to tolerate milk often have exercised great creativity in using the milk of not only cows, but also sheep, goats, water , and camels.
	(Sourced from: The internet)

  (b)		Insert a picture as footer in your document.							(4 marks)
  (c)		Animate the title “types of consumption” using word art and save it as milk 1.	(2 marks)
  (d)		Increase the font size of all the titles to font size of 21.					(2 marks)
  (e)		Insert the following table at the end of the document.					(3 marks)

					Animal								Number
					Sheep									50
					Goats									  5
					Horses									12
					Camels									  8

   (f)	Insert a row above the first one and type an appropriate title.  Merge the cells.	(2 marks)
   (g)	Spell check your document.  Save the document as Milk 2.				(2 marks)
   (h)	Create a folder and save Milk, Milk 1 and Milk 2 in it.					(2 marks)
   (i)		Print Milk, Milk 1 and Milk 3.											(2 marks)
2.(a)	Type the following as it appears in Microsoft excel and save it as marks.		(15 marks)

	First name		Second name		Chem		Physics		IT	        Maths     Computer studies
	James				Onyango			12					78		96		78		96
	Geoffrey			Njuguna			52					52		56		55		56
	Patel				Viraj					85					58		85		96		85
	Akamba			Mguu				85					52		68		56		63
	Njoroge			Benson				36					66		  5		58		54
	Ondieki			Karanja				56					89		96		45		  9
	Samson			Kaigi				55					54		56		25		57
	Samuel			Oloo					89					25		87		55		98
	Simprosa		Owour				25					66		78		78		66

  (b)		Calculate the average marks of every student and subject to two decimal places.	(4 marks)
  (c)		Calculate the total marks for every student.							(2 marks)
  (d)		Add another student, Jackson Mutei, between Patel and Akamba who scored in the
		respective subject: 45, 25, 78, 55 and 56.							(2 marks)
  (e)		Find the maximum and minimum mark per subject and student.				(4 marks)
  (f)		Use the ‘If’ function to insert these comments based on an average marks per student.
		Save the document as Mark.												(4 marks)
								>=80 GOOD
								>=60 FAIR
								>=40 POOR
								<40 PULL UP
  (g)		Type 2/7 in cell A23															(2 marks)
  (h)		Insert a column and update the average marks for every student using the value in A23.	
																								(25 marks)
  (i)		Create a column graph showing the second names and both averages for each 
		student.  Save the graph as marks comparison.						(9 marks)
  (j)		Change the orientation to landscape and insert the current date and time as a left header.
		Save the document as mark 2.											(2 marks)
  (k)		Print the document named mark, marks and marks comparison.				(1 mark)
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	INSTRUCTIONS TO SCHOOLS.

	Schools offering computer studies should ensure the following is in place before start of the exam.

	1.	Enough computers should be provided so that the practical examination should not be taken in more 			than two  sessions.
	2.	Enough printers and printing materials so that each student may be able to print their work.
	3.	Each student should provide with empty re-writable CD / CD - ROM.
	4.	Each student should be allowed 10 minutes to print his / her work after expiry of 21/2 hours given to do 			the  exam.
	5.	Each student should be provided with a computer with the following specification at start of every 			session;
			(a)		A computer that is able to write a CD R/W
			(b)		A computer installed with  the following application software:
					(i)	A word processor eg Ms Word
					(ii)	A spreadsheet e.g Ms Excel
					(iii) A DBMS e.g Ms Access
					(iv) A DTP e.g  MS - publisher.
					(v) Latest antivirus software.
	6.	All 	questions must be answered in English.






SCHOOL BASED  EXAMINATIONS - FORM 4 - 2019
  					COMPUTER 451/2 MARKING SCHEME PAPER 2
1.	(a)		Two column in the second paragraph.								4 mks
				Three columns in the third paragraph with lines between bold on the titles.		3 mks	
				Bold on the titles															3 mks
				Correct naming of milk													2 mks
				Applying justification on second paragraph						2 mks
				Italics (sourced from : the internet)									2 mks
				First line indent in 5th paragraph									2 mks
				No indent in 1st, 2nd, 3rd and 4th									2 mks
				Applying drop cap														2 mks
				Correct data input (-1 for any inaccurate data entry)					6 mks
		(b)		Inserting a picture as a footer											4 mks
		(c)		Title animation															1 mk
				Correct naming of milk one											1 mk
		(d)		Increment of the font size												2 mks
		(e)		Inserting table																3 mks
		(f)		Adding a title																1 mk
				Merging the cells															1 mk
		(g)		Spell c heck done															1 mk
				Correct naming milk 2													1 mk
		(h)		Creating folder and putting all files together						2 mks
2.	(a)		Double line outside border											2 mks
				Dash inside borders														3 mks
				Data entry (penalize - 1 for any incorrect entry in a row)				10 mks
	(b)		Formula for average. Sample formula = AVERAGE (C2:G2)				2 mks
				Correct values																2 mks
	(c)		Formula for total. (Sample formula = SUM (C1:G2)					1 mk
				Correct values																1 mk
	(d)		Addition of the student													2 mks
	(e)		Formula for maximum sample formula = MAX(C2:C10)				2 mks
				Formula for minimum sample formula = MIN(C2:C:10)				2 mks
	(f)		Correct formula sample formula										2 mks
				=if(h2>=80,”good”, if(h>=60,”far”, if(h2=40,”poor”, “pull up”
				Correct comments														1 mk
				Correct naming of a file as mark									1 mk
	(g)		Correct entry in cell a23												2 mks
	(h)		Inserting a column														1 mk
				Correct formula of new average sample formula is =H2#$A$23			3 mks
				Correct value																1 mk
	(i)		Chart title																	1 mk
				Legend																		1 mk
				Correct data range and series											5 mks
				Column and row title													1 mk
				Correct naming of the graph as a comparison						1 mk
	(j)		Changing orientation													1 mk
	(k)		Inserting date and time as a header and printing						2 mks
SCHOOL BASED  EXAMINATIONS - FORM 4 - 2019
  					COMPUTER 451/1 MARKING SCHEME PAPER 1
1. 	State one difference between PDA and personal computer. (2 mks)
	- A PDA is a small and portable computer while a desktop is designed to be place on the desk.
	- PDA has small storage capacity while desktops have a large storage capacity.
2.	State four examples of toggle keys on the computer key board. (2 mks)
	- Caps lock key
	- Number lock key
	- Scroll lock key
	- Insert key
	- Shift key
3.	A company wants to buy a new software.  List three items of documentation that should accompany a 
	software.(3 mks)
	- A license
	- Installation guide
	- Warranty
	- Upgrades
	- Service pack
	- User manual
	- Reference manual
4.	Explain each of the following terms as used in Microsoft Word. (2 mks)
  (i) 	Text alignment.
	It refers to the arrangement of text relative to the left margin, centre of a page or right margin.
	Mail merging.
  (ii)	Is the process of generating personalized letters, labels or envelops by merging two files; a main document e.g a letter with a data source or address book.
5.	Define the following terms as used in email folders. (3 mks)
  (a)	Trash - contains emails that have been deleted.
  (b)	Spam (junk mail) - contains an unsolicited e-mail message sent to many recipients at one time, or a news article pasted simultaneously to many new groups.
  (c)	Inbox - contains all incoming e-mails.  It contains other folders so that you can organize your e-mails.
6.(i)	What is programming language? (1 mk)
	- It is a set of special symbols that can be translated into machine readable form by the computer.
  (ii)	State two factors to be considered while choosing a programming language. (2 mks)
	- Ease of learning and use.
	- Availability of the relevant translator	
	- Purpose of the program
	- Execution time
	- Popularity
	- Documentation
	- Availability of skilled programmers
	- Whether the programmer is familiar with the language.
7.	Explain the following stages of system development. (2 mks)
   (i)	Coding
	It is the transfer
  (ii)	Requirement specification.
	Is the process of generating personalized letters, labels or envelops by merging two files; a main document e.g a letter  with a data source or address book.
8.	List two roles performed by computer engineers. (2 mks)
	- Design and develop computer components like hard disks, motherboards and processors.
	- Determine the electoral power requirements of each component developed.
	- Re-engineer computer components with the aim of enhancing their functionality and efficiency.
	- Design and develop engineering and manufacturing computer controlled devices like robots.
9.	State two types of software piracy. (2 mks)
	- License - user duplication for unlicensed users.
	- Pre-installed software.
	- Internet piracy.
	- Counterfeiting
10.(a)	Define the term query as used in a database design. (1 mk)
	- It is a question used to instruct a database retrieve data or perform operations such as insertion, update and  	deletion of data in a table.
  (b)	State two advantages of computerized database. (2 mks)
	- Information can be accessed easily.
	- Related files can be linked together once one is updated, the related files will automatically be updated.
	- Minimal or no record duplication.
	- Easy to store backup copies-offsite.
	- Data can be validated during data entry.
11.	List two forms of computer output. (2 mks)
	- Hardcopy
	- Softcopy
12.	Distinguish between the following types of operating systems. (2 mks)
			Graphical user interface									Command line
	Enables the user to choose commands start programs	The user interacts with a computer by typing a 
	and see lists of files and other options by pointing and 	command at the prompt found on a command line.
	clicking at icons.

	Hibernation															Shut down
	Saves all contents in the RAM then power off the 					Turns off the computer and prompts the user to save
	computer, when it is turned on again after hibernation, it			the files first such that when the computer is turned
	automatically reloads the contents of the memory and its	again,it 		does not automatically load files and programs.
	restored to the state it was in just before hibernation.
13.	Distinguish between widow and an orphan as used in word processor. (2 mks)
	- A widow is the last line of a paragraph that appears alone at the top of the next page, and an orphan is the first line of a paragraph that appears alone at the bottom of a page.
14.(a)	Define file organization as used in data processing. (1 mk)
	- It refers to how files are organized on the storage media for ease of access, efficiency and flexibility of storage.
   (b)		List four data processing modes.
	- On- line				- Real time					- Interactive			- Distributed
	- Time sharing		- Batch processing		- Multiprogramming	- Multiprocessing
15.(a)	List two high level programming languages. (2 mks)
	(a) Cobol				(b) Fotran					(c) C			(d) Ada			(e) Basic
  (b)	Name three characteristics of a system.
	- Holistic
	- Subsystems
	- Environment
	- Purpose
	- Processing
	- System entropy
	- Inputs and outputs
	- Control



	SECTION B: (60 mks)
16.	Study the flowchart below and answer the questions that follow.

						[image: ]
  (i)	State the name of the control structure shown in the flowchart. (1 mk)
	Selection control structure
  (ii)	Assuming the user key 8 and 14 when prompted to enter the values form and N respectively, determine the printer values of A, B, and y. 	(4 mks)
	The printed values are:-
	P = 8, 	Q = 14, x = 8 and y = 14
 (iii)	Write the pseudocode that would be used in place of the flowchart. (5 mks)
	The pseudo is as follows.
	BEGIN
	Print “enter the value of M and N”
	Read M, N
	Set = M;
	Set y =  N;
	P = y - ;
	Q = - y;
	IF P>Q THEN
	Set P = ;
	Set Q = y;
	ELSE
	Set P = y;
	Set Q = ;
	ENDIF
	PRINT P, Q,
				, y
	END
  (b)	What is the difference between looping and selection. (2 mks)
	Looping executes the same block of code (module) again and again until a certain condition is fulfilled while selection execution of a statement (1) depends on a condition that returns true or false (yes / no) 
	(well explained 2 mks)
  (c)	Name the stage of program development cycle when: (3 mks)
   (i)	A user guide would be written.
	Documentation
  (ii)	A programmer dry-runs the code.
	Testing and Debugging
  (iii)	System charts would be drawn.
	Program Design.
17.(a)(i)	 Define the term information system.
	An integration of both manual and computer based processes that produce information to support decision making.
  (ii)	Differentiate between a close system and an open system in relation to system boundary. (2 mks)
	A close system is one that is isolated from its environment and therefore does not interact with it while an open system is one connected to and interacting with its environment.
  (iii)	Outline the stages of systems development life cycle in their logical sequence briefly describing what takes place at each stage. (7 mks)
	Stage I Preliminary survey / study.
	Stage during which a problem is recognized, defined and a feasibility study initiated.
	Stage II Investigation and fact finding.
	A comprehensive study is undertaken to establish facts which relate to the proposed system.
	Stage III Analysis.
	A stage during which detailed requirements for the new system are identified by the system analysts.
	Stage IV System Design
	At this stage, the proposed system is designed using design trols such as flow charts.
	Stage V System Construction and Testing.
	Programs are coded and tested together with the other system components.
	Stage VI System implementation.
	This is the stage at which the new system is put to use.
	Stage VII Maintenance and review.
	During this stage, repairs, modifications and corrections are done to the implemented system to keep it functional.
	(For each stage, 1/2 mk for identification 1/2  for explanation)
(b)(i)A user wishing to access the internet may use a modem or an ISDN connection.  What is the purpose of a modem? (1 mk)
	An ISDN line is capable of automatically accepting and converting digital signals to analogue before transmission.
 (iii)	State three forms of communication that can be transmitted by and ISDN line.. (3 mks)
	Voice, sound, pictures, text
18.(i)	The figure below shows a picture tool bar.
					[image: ]


										A			     B			   C




	Name and state the functions of the features marked A, B and C. (1 mk)
  (i)	A  (1 mk)
	Name: Cropping tool.
	Function: Used to trim the unwanted parts of graphics.
						Name @ 1/2 mk 				Function @ 1/2 mk 
 (ii)	B (1 mk)
	Name: Rotate left 900
	Function:	used to rotate objects through an angle of 900 to the left.
						Name @ 1/2 mk 				Function @ 1/2 mk 
	C (1 mk)
	Name: Test wrap tool.
	Function: Used to place text around graphics.
						Name @ 1/2 mk 				Function @ 1/2 mk 
 (b)	State the importance of Column breaks as used in world processor. (1 mk)
	It is used to enforce an end of a column to start / move the cursor at the beginning of the next paragraph.
	Importance @ 1 mk
  (c)	Change case in where a user applies different paragraph formatting styles so that the text can have some contrast in size.  Write the word Digital SIGNAL. (2 mks)
  (i)	Title case.
	Digital signal
  (ii) 	DIGITAL signal
  (d)	Define the following terms as used in chart. (2 mks)
 (i)	Legend
	The legend is a chart object that identifies the patterns or colors that are assigned to the data series or categories in the chart.
  (ii)	Data range
	The data range is the area of the worksheet that you want to chart.  It includes any numeric data that you want to chart and can include the titles for the data.
 (e)	The table below shows how a kiosk owner uses a spread sheet to keep records in a shop.
			    			 A		          		B	        			C		       D		                E		             F
	1	Item Name	Number of item   Unit cost    Total buying price      Total selling price	Profit
	2	Blue band	        150	        120							3600
	3	Toss		        135	          50							1350
	4	Cow boy	        120	        120                        					2880
	5	Panga soap	        118	          50							1180
 (I)  Write a function to calculate the total buying price. (2 mks)
			= product (B2:C2) or = product (B2,C2)
 (II)	Write a formula to calculate the profit. (2 mks)
			=E2 - D2
 (III)	The total buying prices of all items was increased by 12% and the value 12% is placed in cell B6.  Using cell addresses with absolute referencing, write  a formula to calculate the Total Selling Price in cell E2. (2 mks)
			=($B$6/100)*D2
  (IV)	State the output of the expression = SUMIF(F2:F5,”<1 500”) would return. (1 mk)
				2530
19.(a)	Define each of the following data communication terms:- (4 mks)
   (i)	Attenuation.
	Attenuation refers to the decrease in magnitude and energy as a signal.
	Progressively moves along a transmission medium.

  (ii)	Simplex
 	Simplex is a data communication mode in which data travels in one direction only at a time.
  (iii)	Bandwidth
	Bandwidth refers to the maximum amount of data that a transmission medium can carry at one time.
  (iv)	Simple modulation.
	Signal modulation is the process of converting a digital signal into an analog signal for transmission.
  (v)	Data signal.
	Data signal is a voltage level in the circuit that represents the flow of data.
 (b)  	Describe the following Network Topologies.
   i)	Star (31/2 mks)
	Star presents modes attached to a central server.  When the central server is affected, the entire network is 	affected and cannot work.
											N3

							N2			NS			N2

											N1
 (ii)	Bus		(31/2 mks)
	Bus presents nodes in linear manner with each node attached to a linear Bus terminated at each end.

												Bus


							N1									N2
   (c)	List  three types of computer network. (3 mks)
	Local Area Network (LAN)
	Metropolitan Area Network (MAN)
	Wide Area Network (WAN)
20.(a)	Convert the following hexadecimal number to its decimal equivalence 11116. (3 mks)
			(1*162) + (1*161) + (1*160)
			256 + 16 + 1 = 27310
 (b)		Perform the following binary arithmetic. (2 mks)
			111112 + 111112
				= 1111102
			110102 - 10102
				= 100002
		110102 - 10102
  (c)	Convert the following binary number 1101.012 to decimal. (2 mks)
			(1*23) + (1*22) + (1*21) + (1*20) + (1*2-1) + (1*2-2)
				8 + 4 + 1 + 0.25 = 13.2510
  (d)	Using twos complement (2C) subtract 2810 from 1710 in 7 bit form. (3 mks)
		1710 = 100012
			2810 = 1011002
			1710 = 00100012
			2810 = 01011002
	1st complement = 110100112
	2nd complement = 110101002
	00100012 + 110101002 = (1)11001012

  (e)	Using one’s complement (1c) work out the following in 8 bit form. (3 mks)
		2110 - 1210
		3110 = 111112
		1210 = 11002
		8 bit
	3110 = 000111112
	1210 = 000011002
	1st complement of 1210
	111100112 + 000111112 = (1)000100102
	Add an over flow bit
		= 00010011


	5. 	Type of operating			Description
			Menu Driven					Contains a list of options to choose from.
			Graphical User				Contains images and uses  interface pointing devices to make choices.
			Command line				Contains a place to key in one’s
			Gesture Driven				Uses human body motion to interface	 make choices.
6. (a)	Functions of network operator.
     -	Set up computer network.
     -	Maintain and enforce security measures.
     -	Monitor the use of network resources.
     -	Maintain and troubleshoot network related problems.
				(any 1 correct @ 1 mk = 1 mk)
 (b)	It is hostile and insulting interaction between persons over the internet.
7.(a)	Biometric analysis - is the study, measurement and analysis of human biological characteristics using a computer.	(award 1 mk)
   (b)	Two application areas of biometric analysis.
      -	Identify criminals through electronic figure print regulation.
      -	Profiling a crime scene through DNA analysis.
      -	Authenticating people entering or leaving a building.
      -	Face recognition at passport controls in airports.
13.-	The initial set up cost is high.
     -	May lead to unemployment.
					(2 correct - 2 mks)
14. -	Designs, develops and tests computer components.
      -	Examines computer components and determines the power requirement of the components.	
	Set student = 1
	For student = 1 to 10 Do
	PRINT “Enter student name”
	INPUT  Student name
	PRINT “Enter student’s math, chem and comp 						   marks”
specified condition and returns the restuls.
  (e)	State two advantages of using fibre optic cables. 														(2 mks)
  (i)	Noise resistance: It is immune to EMI.
  (ii)	Less signal attenuation: signal can run for miles without requiring regeneration.
  (iii)	Higher bandwidth:  fibre optic cable can support dramatically igher bandwidths (and hence data rate) than all other cables.
 (iv)	Smaller and ligher than copper cable hence space limited situations.
  (v)	Can be used in hazardous (higher flammable) places because they do not generate electrical signals.
 (vi)	Very fast (in light form)
18.(a)(i)	What is cloud computing.
	The practice of using a network of remote servers hosted on the internet to store, manage and rather than a local server or a personal computer.
  (ii)	Benefits of cloud computing.
    -	Automatic software updates.
    -	Improve accessibility - You can access anytime, anywhere.
    -	Disaster recovery - One can recover data incase it is lost in local computer.
   -	Security - Lost computers, you can still access your data.
    -	Cost saving (reduces capital cost on hardware and software)
    -	Minimized licensing of new software- Does not need to purchase any new software.
					(any 3 correct each 1 mk = 3 mks)
(b)(i)	Describe this type of communication.
	Video conference - it is whereby members of a particular group are able to hold meeting / discussions in real time mode through each individual in far apart geographically.
	(correct name = 1 mk, correct description = 1 mk)
  (ii)	Advantage
   -	It minimizes the travelling cost incurred by members.
   -	It does not require large room for holding meeting (save space)
			(Any 2 correct each 1 mk)
	Disadvantages.
   -	Require that each member must have ICT equipment that may be costly.
   -	There must be constant connection to he net for its effectiveness.
			(any @ 1 mk)
  (c)	Advantages of digital technology over analog technology.
    -	There is quality in the image being transmitted.
    -	Digital transmission is cheaper than analog in terms of frequencies.
    -	It requires less equipment for its operation (one can give signal to a service provider for distribution)
			(any 3 correct each 1 mk = 3 mks)
  (d)	Impact of ICT on employment.
   -	Job creation - new employment opportunities that never existed before.
   -	Job replacement - computer / literate people have been replaced with those who have desired computer skills.
   -	Displacement - employees moved to another department where computer skills are not required.
19. (a)	Name and state the functions of the features.
  (i)	A - Crop tool hide unwanted parts of a picture/graphic.
  (ii)	B - Rotate tool / rotate left to flip a picture left 900.
  (iii)	C - Wrap text to change / define the way text wraps around the selected object.
 (iv)	D - Brightness increase - increases the brightness of a graphic.
     (correct naming @ 1 mk, correct function @ 1 mk)
 (b)	Give three benefits of print previewing a document.
   -	The user is able to confirm the appearance of the document before printing.
   -	It is possible to manipulate the margins while viewing the page.
   -	It is possible to view all the pages of a document before printing.
				(any 3 correct @ 1 mk)
 (c)(i)	(a) = Sum (B5 : E5) or = B5 + C5 + D5 + E5
    (b)	 = Average (B4 : E4)
(c)(i)	 =	Max (B2 : E2)	
			(each correct 1 mk x 3)
  (ii)	= COUNTIF (E2 : E6, “>60”)  (2 mks)
  (iii)	Functions of the following types of charts.
  (a)	Pie chart - shows contribution of certain items to a grand total.
  (b)	Line graph - shows the trends and checking changes of value over time.
  (c)	Bar graph - it is used to compare values at given point in time 
				(correct function @ 1 mk x 3 = 3 mks)
20.(a)	 Convert 25.12510 to base 2
					25
		2		   12			Rem 1
		2		 	6			Rem 0
		2			3			Rem 0
		2			1			Rem 1
		2			0			Rem 1
						= 110012  1 mks

	Fraction 	- 125 x 2 = 0.250
					- 250 x 2 = 0.500
					- 500 x 2 = 1.00
			Read from above = 0012   (1 mk)
				Combine = 11001.0012	  (1 mk)

Place value	22	  21	20	  .	 2-1	2-2		2-3		2-4		2-5
Value			1	   0	1	  .	  1	    1	     1	     1  	     0
	(4 x 1) + (2 x 0) (1 x 1) .(1 x 0.5) + (1 x 0.25) + 1 x 0.125) + (1 x 0.0625) + (0 x 0.03125)   (1 mk)
		= 4 + 10.5 + 0.25 + 0.125 + 0.0625)   (1 mk)
						= 5.9375     (1 mk)
  (c)	Using one’s complement work out 1410 - 910 
	(leave your answer in base 2)
	14 = 00001110	  (1 mk)
	9 = 00001001 = ones complement = 11110110  																(1 mk)
		Add	00001110
				1110110
			(1) 00000100    (1 mk)
	Overflow a bit
					1 +
				= 101		  (1 mk)
  (d)	Use two’s compliment to work out 110002 - 1112
		= 11000 - 00111
	One’s compliment		=		11000
												   1 +    (1 mk)
	Two’s complement		=		11001   (1 mk)
	Add the numbers				11000
											11001+
									   (1)  10001  (1 mk)
				Ignore the overflow bit = 100012  (1 mk)
	Assuming the existence of base 6, list the numbers in the number system.
	0, 1, 2, 3, 4, 5.
				(All the numbers correct @ 2 mks)
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